o r P | Producti
TrueBuild anelFrocuction

SOFTWARE SUITE
Bundle #1

2nd Chicago 1/107
Panel #EX73 Length: 10' 11-1/2" Height: 9' 1-1/8" First Stud Face @6' 10-3/4" (1' 4" o.c.) Diagonal: 14' 1-15/16"

L 10 11-1/2" |

T4-72)
/(2) 2x1>\
77
76
X
76
Q & 48
W o
o &b B A A
%] 3
277
¥ 21172 * 0 t 70 A 716,088 9
6L c 28L
[ - — | N N

7
-
47

5'4-7/8"

6'1-5/8"—

Top Plates: 2x6 SYP #2 10'11-1/2" Bottom Plates: 2x6 SPF-PT #2 10' 11-1/2"
Studs: (4) 2x6 SPF #2 8' 8-5/8"

Components & Subcomponents Start End
2X6 L (2x6 Dn) @ Start 7"

C (7' 0-1/2") 17" 4'7"
2x8 L (2x8 Dn) 5'4-7/8" 6' 1-5/8"

Exterior Sheathing:  Start: Flush  End: Flush



o r P | Producti
TrueBuild anelFrocuction

SOFTWARE SUITE

Bundle #1
2nd Chicago 2/107
Panel #EX176 Length: 14' 8" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 17' 2-5/16"
L 14'8" ,
1 7
il
(2) 2x12
7' 2"
Qo 2'8
28 A 5o A A B
p'2"
/-1/2"
) ¥ &0 + T + 70 * R 4 7716 088 (9)
2X6 L X6 L D
[N - T T T T 7
- 2
N &~ 2] ©

Top Plates: 2x6 SYP #2 14'8" Bottom Plates: 2x6 SPF-PT #2 14' 8"
Studs: (7) 2x6 SPF #2 8' 8-5/8"

Components & Subcomponents Start End

2X6 L (2x6 Dn) @ Start 7"

2X6 L (2x6 Dn) 2' 3-1/4" 2' 10-1/4"
D (7' 0-1/2") 3'8-1/2" 6' 10-1/2"

Exterior Sheathing:  Start: Flush  End: Fly 5-1/2"



TrueBuild

SOFTWARE SUITE

2nd

Panel Production
10/19/2022

Bundle #1

Chicago 3/107

Panel #EX72 Length: 14' 8"

8' 11-5/8"

Top Plates: 2x6 SPF #2 14'8"

8'8-5/8"

Height: 9' 1-1/8"

First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 17' 2-5/16"

) g )
1 1
6 4" T4
}Z) 2x12
P) 2x1 2) 2x12
- ® ®
610 610"
o
X
A 50" A A
2'10"
X
610"
22
gt
¥ T ¥ v ¥ g A 7116 0SB (9)
2X6 L D Patio 2X6 FLAT Patio
-‘ = = = = - =
N & e % 5N % 5
Y ) © o © >
25 2 s
=

Studs: (2) 2x6 SPF #2 8' 8-5/8"

Bottom Plates: 2x6 SPF-PT #2 14'8"

Components & Subcomponents Start End

2X6 L (2x6 Dn) @ Start 7"

D (7' 0-1/2") 2'2" 5'4"
Patio (6' 8-1/2") 6'8" 10' 0"
2X6 FLAT (2x6 Dn) 10' 0" 10' 5-1/2"
Patio (6' 8-1/2") 10' 8" 14' 0"
Exterior Sheathing:  Start: Flush  End: Flush



True BUIId Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #1
2nd Chicago 4/107

Panel #EX173 Length: 14' 10" Height: 9' 1-1/8" First Stud Face @3' 11-1/4" (1' 4" o.c.) Diagonal: 17' 4"

| 14' 10" |
1 1
IER 11 ] }‘ér
2) 2x12 (2)\2\x12
2) 2x12
b
& io"
| & 28
o = \L/
& A 50" A B
0 0|
2 flor
10"
2 22
°F 1
+ 70 * 70 4 70 * Z10 4 7116088 9)
D 2X6 L D Patio
I 12X6Ll
~ > > T = - B o
@ T b T ~ ) =
o - -

Top Plates: 2x6 SPF #2 14'10" Bottom Plates: 2x6 SPF-PT #2 14' 10"
Studs: (4) 2x6 SPF #2 8' 8-5/8"

Components & Subcomponents Start End

D (7' 0-1/2") 7" 39"
2X6 L (2x6 Dn) 4'9" 5'4"
2X6 L (2x6 Dn) 5'4" 5 11"
D (7' 0-1/2") 771" 10" 3"
Patio (6' 8-1/2") 11'6" @ End

Exterior Sheathing:  Start: Flush  End: Flush



True BUIId Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #1
2nd Chicago 5/107
Panel #EX174 Length: 15'2" Height: 9' 1-1/8" First Stud Face @5' 1-1/4" (1' 4" o.c.) Diagonal: 17' 7-7/16"
L 15' 2" L
1 7
LGT+ [ 13" l Wl 172"
%) 2X}/ (2) 2x12 /
() 2x12
72" 72"
6' 10"
&l 5 28" 2
; 9 B A 5o A o
2'10"
X
6'10"
2'2" 2 2/'
13" 2
Tt 310 + 70 + 70 f oy 4 7116088 9
2X6 FLAT Patio D 2X6 L D
- [ N N W
L | I 1T X6l I
§ e o © o T e - o
- < o] o . o - N
o~ [ e —

Top Plates: 2x6 SPF #2 15'2" Bottom Plates: 2x6 SPF-PT #2 15'2"
Studs: (4) 2x6 SPF #2 8' 8-5/8"

Components & Subcomponents Start End
2X6 FLAT (2x6 Dn) 2-1/2" 8"
Patio (6' 8-1/2") 8" 4'0"

D (7' 0-1/2") 53" 8'5"
2X6 L (2x6 Dn) 911" 10' 6"
2X6 L (2x6 Dn) 10'6" 111"
D (7' 0-1/2") 12' 0" @ End

Exterior Sheathing:  Start: Flush  End: Flush



TrueBuild

Panel Production

SOFTWARE SUITE 1071972022
Bundle #1
2nd Chicago 6/107
Panel #EX175 Length: 15'4" Height: 9' 1-1/8" First Stud Face @7-1/4" (1' 4" o.c.) Diagonal: 17' 9-3/16"
L 15'4" ,
1 1
o o e
e 2x¥
(%/2x1 }/)2x1‘ s
6' 10" 6' 10"
S 5\0 2'8"
73 g : A LA
2'10" 2'10"
X X
6'10" 6' 10"
e 2"
14
) ¥ 3 * 0 t 70 t 70 1716088 9)
Patio 2X6 FLAT Patio D 2X6 L
I ‘ ] ‘
b b ab s ~ >
- g © S 2 X
%

Top Plates: 2x6 SPF #2 15'4"
Studs: (4) 2x6 SPF #2 8' 8-5/8"

Bottom Plates: 2x6 SPF-PT #2 15'4"

Components & Subcomponents Start End
Patio (6' 8-1/2") 13" 4'7"
2X6 FLAT (2x6 Dn) 4'9-1/2" 5'3"
Patio (6' 8-1/2") 5'3" 87"

D (7' 0-1/2") 10' 0" 13' 2"
2X6 L (2x6 Dn) 14' 9" @ End

Exterior Sheathing:  Start: Flush  End: Flush



True BUlld Panel Production

SOFTWARE SUITE 1071912022
Bundle #1
2nd Chicago 7/107
Panel #EX68 Length: 14' 8" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 17' 2-5/16"
L 14'8" ,
1 7
iy B A A A
) f CEET7 + 0 F 0 g 0 4 7116 038 (9

2X6 L

=
=
=
=
=
=
=
=
=
=
=
=

12' 4-1/4"
12" 11-1/4"—

Top Plates: 2x6 SYP #2 14' 8" Bottom Plates: 2x6 SPF-PT #2 14' 8"
Studs: (12) 2x6 SPF #2 8'8-5/8"

Components & Subcomponents Start End

2X6 L (2x6 Dn) 12' 4-1/4" 12" 11-1/4"

Exterior Sheathing:  Start: Fly 5-1/2"  End: Flush



TrueBuild

SOFTWARE SUITE

2nd

Chicago

Panel Production
10/19/2022

Bundle #1
8/107

Panel #EX69 Length: 13' 4"

Height: 9' 1-1/8"

First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 16' 0-13/16"

13" 4"

-

8'11-5/8"
8'8-5/8

(2) 2x12

' 7-7/8

b

77— 7116 0SB (9)

70"

2X6 L

L

7o

2X6 L

70"

1'7-1/4
2'2-1/4"—

3'8-1/8"

50
5'4-1/2"

6'8-1/8"

8'6-1/4"

9'1-1/4"—

Top Plates: 2x6 SYP #2 13'4" Bottom Plates: 2x6 SPF-PT #2 13'4"
Studs: (8) 2x6 SPF #2 8' 8-5/8"

Components & Subcomponents Start End

2X6 L (2x6 Dn) 1'7-1/4" 2'2-1/4"

C (7' 0-1/2") 3'8-1/8" 6' 8-1/8"

3S 5'0" 5'4-1/2"

2X6 L (2x6 Dn) 8' 6-1/4" 9" 1-1/4"

Exterior Sheathing:  Start: Flush  End: Flush



TrueBuild

SOFTWARE SUITE

2nd Chicago

Panel Production
10/19/2022

Bundle #2
9/107

Panel #EX70 Length: 13'4" Height: 9' 1-1/8" First Stud Face @5' 3-1/4" (1' 4" o.c.) Diagonal: 16' 0-13/16"

77— 7116 0SB (9)

L 134" }
1 1
3ﬁ“i“
@) 2x12
& 5
I
A o A A B
0| 0
t7-1/2"

i L L L

1 70 1 70 7 70 1

c 2X6L
I = I I I I

11 0-1/2"
47-3/4"
5'2-3/4"—|

4'0-1/2"

Top Plates: 2x6 SYP #2 13'4" Bottom Plates: 2x6 SPF-PT #2 13'4"
Studs: (8) 2x6 SPF #2 8' 8-5/8"

Components & Subcomponents Start End
C (7' 0-1/2") 1'0-1/2" 4'0-1/2"
2X6 L (2x6 Dn) 4'7-3/4" 5'2-3/4"

Exterior Sheathing:  Start: Flush  End: Flush



o r P | Producti
TrueBuild anelFrocuction

SOFTWARE SUITE
Bundle #2

2nd Chicago 10/107
Panel #EX99 Length: 2' 11" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 9' 5-3/16"

=
|

8' 11-5/8
8'8-5/8"
>

f———>s—f 7160889

BP1K2. 2X6 L

[

gl N

Top Plates: 2x6 SPF #2 2'8" Bottom Plates: 2x6 SPF #2 2' 11"
Studs: 2x6 SPF #2 8'8-5/8"

Components & Subcomponents Start End
BP1K2J (7' 10-1/4") @ Start 4-1/2"
(1) 2x6 SPF #2 6" 7-1/2"
2X6 L (2x6 Dn) 2'4" @ End

Exterior Sheathing:  Start: Hold 6"  End: Flush



TrueBuild

Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #2
2nd Chicago 11/107
Panel #EX71 Length: 6'5" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 11' 0-5/16"
L 6'5"
}
22 A B
B t 7o + 27 10-1/2" 1 7/16 08B (9)
Top Plates: 2x6 SYP #2 6'5" Bottom Plates: 2x6 SPF-PT #2 6' 5"

Studs: (6) 2x6 SPF #2 8' 8-5/8"
Exterior Sheathing:  Start: Flush  End: Fly 5-1/2"



True BUlld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #2
2nd Chicago 12/107

Panel #EX96 Length: 1' 8-1/2" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 9' 1-9/16"

, 1'8-1/2"

8' 11-5/8"
8'8-5/8"
>

—

-

b———5——FmeosB©

[

Top Plates: 2x6 SPF #2 1'8-1/2" Bottom Plates: 2x6 SPF #2 1'8-1/2"
Studs: (3) 2x6 SPF #2 8' 8-5/8"
Exterior Sheathing:  Start: Flush  End: Fly 5-1/2"



True BUlld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #2
2nd Chicago 13/107

Panel #EX95 Length: 2' 11" Height: 9' 1-1/8" First Stud Face @1' 6-1/4" (1' 4" o.c.) Diagonal: 9' 5-3/16"

- f——o5— 116088 (9)

2X6 L BP1K2J
T

Top Plates: 2x6 SPF #2 2'8" Bottom Plates: 2x6 SPF #2 2' 11"

Studs: 2x6 SPF #2 8'8-5/8"

Components & Subcomponents Start End

2X6 L (2x6 Dn) @ Start 7"

(1) 2x6 SPF #2 2'3-1/2" 2'5"

BP1K2J (7' 10-1/4") 2'6-1/2" @ End

Exterior Sheathing:  Start: Flush  End: Hold 6"



True BUIId Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #2
2nd Chicago 14/107

Panel #EX97 Length: 9'9" Height: 9' 1-1/8" Diagonal: 13' 3"

Il [

2) 175x11.875

7

[To]
% A 50 A B
0| 0

T
5
il L L L L
1 70" 71 7o 71 o 7 7116 OSB (9)
2X6L E 2X6L

4-1/3"
9' 4.gizh

Top Plates: 2x6 SPF #2 9'9" Bottom Plates: 2x6 SPF #2 9'9"

Components & Subcomponents Start End
2X6 L (2x6 Dn) @ Start 7"
E(7'2") 4-1/2" 9'4-1/2"
2X6 L (2x6 Dn) 92" @ End

Exterior Sheathing:  Start: Flush  End: Flush



True BUlld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #2
2nd Chicago 15/107

Panel #EX98 Length: 1' 8-1/2" Height: 9' 1-1/8" First Stud Face @9-3/4" (1' 4" o.c.) Diagonal: 9' 1-9/16"

1'8-1/2"

8' 11-5/8"
8'8-5/8"
>

—

-

b———5——FmeosB©

L

Top Plates: 2x6 SPF #2 1'8-1/2" Bottom Plates: 2x6 SPF #2 1'8-1/2"
Studs: (3) 2x6 SPF #2 8' 8-5/8"
Exterior Sheathing:  Start: Fly 5-1/2"  End: Flush



True BUlld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #2
2nd Chicago 16/107

Panel #EX101 Length: 1' 8-1/2" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 9' 1-9/16"

, 1'8-1/2"

8' 11-5/8"
8'8-5/8"
>

—

-

b———5——FmeosB©

[

Top Plates: 2x6 SPF #2 1'8-1/2" Bottom Plates: 2x6 SPF #2 1'8-1/2"
Studs: (3) 2x6 SPF #2 8' 8-5/8"
Exterior Sheathing:  Start: Flush  End: Fly 5-1/2"



True BUIld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #2
2nd Chicago 17/107

Panel #EX82 Length: 2'4" Height: 9' 1-1/8" First Stud Face @1' 0-1/4" (1' 4" o.c.) Diagonal: 9' 3-3/16"

o 4n

8'11-5/8
8' 8-5/8"
>

—

—

534 7/16 OSB (9)

2X6 L

|
=
-

Top Plates: 2x6 SYP #2 2'4" Bottom Plates: 2x6 SPF-PT #2 2'4"
Studs: (2) 2x6 SPF #2 8' 8-5/8"

Components & Subcomponents Start End

2X6 L (2x6 Up) 19" @ End

Exterior Sheathing:  Start: Fly 5-1/2"  End: Hold 6"



TrueBuild

SOFTWARE SUITE

2nd Chicago

Panel Production
10/19/2022

Bundle #2
18/107

Panel #EX81 Length: 5' 3" Height: 9' 1-1/8" Diagonal: 10' 4-11/16"

-

(2) 2x12

22 B
1612
- ¥ Il F—55— 7116 08B (9)
C 2X6 L
N |
z *
Top Plates: 2x6 SYP #2 5'3" Bottom Plates: 2x6 SPF-PT #2 5' 3"
Studs: 2x6 SPF #2 8'8-5/8"
Components & Subcomponents Start End
C (7' 0-1/2") 11-1/2" 4'1-1/2"
2X6 L (2x6 Dn) 4'8" @ End

Exterior Sheathing:  Start: Flush  End: Flush



True BUIld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #2
2nd Chicago 19/107

Panel #EX80 Length: 2'4" Height: 9' 1-1/8" First Stud Face @1' 2-1/4" (1' 4" o.c.) Diagonal: 9' 3-3/16"

, 2'4" ,

8'11-5/8"
8' 8-5/8"
>

-

b 6088 (9)

2X6 L

[
~

Top Plates: 2x6 SYP #2 2'4" Bottom Plates: 2x6 SPF-PT #2 2'4"
Studs: (2) 2x6 SPF #2 8' 8-5/8"

Components & Subcomponents Start End

2X6 L (2x6 Up) @ Start 7"

Exterior Sheathing:  Start: Hold 6"  End: Fly 5-1/2"



True BUlld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #2
2nd Chicago 20/107

Panel #EX100 Length: 2' 8" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 9' 4-5/16"

28"

8' 11-5/8"
8' 8-5/8"
>

—

-

f——5—4 160889

2X6 L BP1K2J
T
Top Plates: 2x6 SPF #2 2'5" Bottom Plates: 2x6 SPF #2 2'8"
Studs: 2x6 SPF #2 8'8-5/8"
Components & Subcomponents Start End
2X6 L (2x6 Dn) @ Start 7"
(1) 2x6 SPF #2 2'0-1/2" 2'2"
BP1K2J (7' 10-1/4") 2'3-1/2" @ End

Exterior Sheathing:  Start: Flush  End: Hold 6"



True BUIId Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #2
2nd Chicago 211107

Panel #£EX102 Length: 9' 10" Height: 9' 1-1/8" Diagonal: 13' 3-11/16"

| INfet_1] [

(2)\75x1 1.875

7z

O]
= o A 50" A B
0 e

I
1
~ ) L L b
1 o 1 7o T 110 171608809

2X6L E 2X6L
L L
o o
Pl

Top Plates: 2x6 SPF #2 9'10" Bottom Plates: 2x6 SPF #2 9' 10"

Components & Subcomponents Start End
2X6 L (2x6 Dn) @ Start 7"

E (7| 2") 5|l 9! 5"
2X6 L (2x6 Dn) 9 3" @ End

Exterior Sheathing:  Start: Flush  End: Flush



True BUlld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #2
2nd Chicago 22/107

Panel #EX103 Length: 1' 8-1/2" Height: 9' 1-1/8" First Stud Face @9-3/4" (1' 4" o.c.) Diagonal: 9' 1-9/16"

1'8-1/2"

8' 11-5/8"
8'8-5/8"
>

—

-

b———5——FmeosB©

L

Top Plates: 2x6 SPF #2 1'8-1/2" Bottom Plates: 2x6 SPF #2 1'8-1/2"
Studs: (3) 2x6 SPF #2 8' 8-5/8"
Exterior Sheathing:  Start: Fly 5-1/2"  End: Flush



True BUlld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #2
2nd Chicago 23/107

Panel #EX104 Length: 2' 8" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 9' 4-5/16"

, 28" ,
o f———F5—fm60s8(9)
BP1K2. 2X6 L
N |
R
Top Plates: 2x6 SPF #2 2'5" Bottom Plates: 2x6 SPF #2 2'8"
Studs: 2x6 SPF #2 8'8-5/8"
Components & Subcomponents Start End
BP1K2J (7' 10-1/4") @ Start 4-1/2"
(1) 2x6 SPF #2 6" 7-1/2"
2X6 L (2x6 Dn) 2'1" @ End

Exterior Sheathing:  Start: Hold 6"  End: Flush



True BUIld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #2
2nd Chicago 24/107

Panel #EX79 Length: 2' 4" Height: 9' 1-1/8" First Stud Face @1' 0-1/4" (1' 4" o.c.) Diagonal: 9' 3-3/16"

o 4n

8'11-5/8
8' 8-5/8"
>

—

—

534 7/16 OSB (9)

2X6 L

|
=
-

Top Plates: 2x6 SYP #2 2'4" Bottom Plates: 2x6 SPF-PT #2 2'4"
Studs: (2) 2x6 SPF #2 8' 8-5/8"

Components & Subcomponents Start End

2X6 L (2x6 Up) 19" @ End

Exterior Sheathing:  Start: Fly 5-1/2"  End: Hold 6"



TrueBuild

SOFTWARE SUITE

2nd

Chicago

Panel Production
10/19/2022

Bundle #2
25/107

Panel #EX78 Length: 5’9" Height: 9' 1-1/8" Diagonal: 10' 7-7/8"

5 g

1'3-1/2"

@ 2x1%

72"
S
ki A B
{13-12"
- ¥ 5 t——g— 716 0SB (9)
C 2X6 L
N |
i i w0
~ h
— <
Top Plates: 2x6 SYP #2 5'9" Bottom Plates: 2x6 SPF-PT #2 5'9"
Studs: 2x6 SPF #2 8'8-5/8"
Components & Subcomponents Start End
C (7' 0-1/2") 1'4-1/2" 4'4-1/2"
2X6 L (2x6 Dn) 52" @ End

Exterior Sheathing:  Start: Flush  End: Flush



True BUIld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #2
2nd Chicago 26/107

Panel #EX77 Length: 2'4" Height: 9' 1-1/8" First Stud Face @1' 2-1/4" (1' 4" o.c.) Diagonal: 9' 3-3/16"

, 2'4" ,

8'11-5/8"
8' 8-5/8"
>

-

b 6088 (9)

2X6 L

[
~

Top Plates: 2x6 SYP #2 2'4" Bottom Plates: 2x6 SPF-PT #2 2'4"
Studs: (2) 2x6 SPF #2 8' 8-5/8"

Components & Subcomponents Start End

2X6 L (2x6 Up) @ Start 7"

Exterior Sheathing:  Start: Hold 6"  End: Fly 5-1/2"



True BUlld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #2
2nd Chicago 27107

Panel #EX105 Length: 2' 11" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 9' 5-3/16"

8' 11-5/8"
8'8-5/8"
5>

—

-

f——o5— 116088 (9)

2X6 L BP1K2J
T
Top Plates: 2x6 SPF #2 2'8" Bottom Plates: 2x6 SPF #2 2' 11"
Studs: 2x6 SPF #2 8'8-5/8"
Components & Subcomponents Start End
2X6 L (2x6 Dn) @ Start 7"
(1) 2x6 SPF #2 2'3-1/2" 2'5"
BP1K2J (7' 10-1/4") 2'6-1/2" @ End

Exterior Sheathing:  Start: Flush  End: Hold 6"



True BUlld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #2
2nd Chicago 28/107

Panel #EX106 Length: 1' 8-1/2" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 9' 1-9/16"

, 1'8-1/2"

8' 11-5/8"
8'8-5/8"
>

—

-

b———5——FmeosB©

[

Top Plates: 2x6 SPF #2 1'8-1/2" Bottom Plates: 2x6 SPF #2 1'8-1/2"
Studs: (3) 2x6 SPF #2 8' 8-5/8"
Exterior Sheathing:  Start: Flush  End: Fly 5-1/2"



True BUIId Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #2
2nd Chicago 29/107

Panel #EX107 Length: 9' 10" Height: 9' 1-1/8" Diagonal: 13' 3-11/16"

| INfet_1] [

(2)\75x1 1.875

7z

O]
= o A 50" A B
0 e

I
1
~ ) L L b
1 o 1 7o T 110 171608809

2X6L E 2X6L
L L
o o
Pl

Top Plates: 2x6 SPF #2 9'10" Bottom Plates: 2x6 SPF #2 9' 10"

Components & Subcomponents Start End
2X6 L (2x6 Dn) @ Start 7"

E (7| 2") 5|l 9! 5"
2X6 L (2x6 Dn) 9 3" @ End

Exterior Sheathing:  Start: Flush  End: Flush



True BUlld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #2
2nd Chicago 30/107

Panel #EX108 Length: 1' 8-1/2" Height: 9' 1-1/8" First Stud Face @9-3/4" (1' 4" o.c.) Diagonal: 9' 1-9/16"

1'8-1/2"

8' 11-5/8"
8'8-5/8"
>

—

-

b———5——FmeosB©

L

Top Plates: 2x6 SPF #2 1'8-1/2" Bottom Plates: 2x6 SPF #2 1'8-1/2"
Studs: (3) 2x6 SPF #2 8' 8-5/8"
Exterior Sheathing:  Start: Fly 5-1/2"  End: Flush



o r P | Producti
TrueBuild anelFrocuction

SOFTWARE SUITE
Bundle #2

2nd Chicago 31/107
Panel #EX109 Length: 2' 11" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 9' 5-3/16"

=
|

8' 11-5/8
8'8-5/8"
>

f———>s—f 7160889

BP1K2. 2X6 L

[

gl N

Top Plates: 2x6 SPF #2 2'8" Bottom Plates: 2x6 SPF #2 2' 11"
Studs: 2x6 SPF #2 8'8-5/8"

Components & Subcomponents Start End
BP1K2J (7' 10-1/4") @ Start 4-1/2"
(1) 2x6 SPF #2 6" 7-1/2"
2X6 L (2x6 Dn) 2'4" @ End

Exterior Sheathing:  Start: Hold 6"  End: Flush



True BUIld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #2
2nd Chicago 32/107

Panel #EX76 Length: 2'4" Height: 9' 1-1/8" First Stud Face @1' 0-1/4" (1' 4" o.c.) Diagonal: 9' 3-3/16"

o 4n

8'11-5/8
8' 8-5/8"
>

—

—

534 7/16 OSB (9)

2X6 L

|
=
-

Top Plates: 2x6 SYP #2 2'4" Bottom Plates: 2x6 SPF-PT #2 2'4"
Studs: (2) 2x6 SPF #2 8' 8-5/8"

Components & Subcomponents Start End

2X6 L (2x6 Up) 19" @ End

Exterior Sheathing:  Start: Fly 5-1/2"  End: Hold 6"



TrueBuild

SOFTWARE SUITE

Chicago

Panel Production
10/19/2022

Bundle #2
33/107

Panel #EX75 Length: 5'4" Height: 9' 1-1/8"

Diagonal: 10' 5-3/16"

5 4"

=

(2) 2x12

8' 11-5/8"
8' 8-5/8"

g

=

7o

Top Plates: 2x6 SYP #2 5'4"
Studs: 2x6 SPF #2 8' 8-5/8"

Components & Subcomponents

Bottom Plates: 2x6 SPF-PT #2 5'4"

End

40"
49—

C (7' 0-1/2"
2X6 L (2x6 Dn)

Exterior Sheathing:  Start: Flush

4! 2"
@ End



TrueBuild

SOFTWARE SUITE

2nd Chicago

Panel Production

10/19/2022
Bundle #2
34/107

Panel #EX74 Length: 7' 5-1/2" Height: 9' 1-1/8" First Stud Face @1' 4-1/4" (1' 4" o.c.) Diagonal: 11' 8"

7'5-1/2"

i

8'11-5/8

8' 8-5/8"
S8
>

-~

L
! 32-172" 7o

L
Yat 7/16 0SB (9)

(]
3
<]

Top Plates: 2x6 SYP #2 7'5-1/2" Bottom Plates: 2x6 SPF-PT #2 7' 5-1/2"
Studs: (6) 2x6 SPF #2 8' 8-5/8"

Components & Subcomponents Start End

6'10-1/2"—F

2X6 L (2x6 Dn) 6' 10-1/2" @ End
Exterior Sheathing:  Start: Fly 5-1/2"  End: Flush



Panel Production

TrueBuild
SOFTWARE SUITE 10/19/2022
Bundle #3
2nd Chicago 35/107
Panel #83 Length: 16' 0" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 18' 4-1/8"
L 16'0" |
1 1
2X6 L 2X6 L
i i X X X i i = i~ i
33 S
= 3 : 3
Top Plates: 2x4 SPF #2 16'Q" Bottom Plates: 2x4 SPF-PT #2 16' Q"
Studs: (11) 2x4 SPF #2 8' 8-5/8"
Components & Subcomponents Start End
2X6 L (2x6 Up) 11' 9-3/4" 12' 4-3/4"
14' 2-1/4" 14' 9-1/4"

2X6 L (2x6 Up)



Panel Production

TrueBuild
SOFTWARE SUITE 10/19/2022
Bundle #3
2nd Chicago 36/107
Panel #84 Length: 16' 0" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 18' 4-1/8"
b 160" )
1 1
2x8 L 2X6 L
i i i ‘M% i i i = i i i i
2 & ¥
SR > o

Top Plates: 2x4 SPF #2 16'Q" Bottom Plates: 2x4 SPF-PT #2 16' Q"

Studs: (11) 2x4 SPF #2 8' 8-5/8"

Components & Subcomponents Start End
2x8 L (2x8 Up) 3'5-7/8" 4' 2-5/8"
9'9-1/4"

2X6 L (2x6 Up) 9' 2-1/4"



TrueBuild

Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #3
2nd Chicago 37/107
Panel #85 Length: 13'5" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 16' 1-11/16"
A 13'5" L
1 1
2X6 L
i i X i i i i i i i

5'9-3/4"—
6'4-3/4"—

2x4 SPF #2 13'5" Bottom Plates: 2x4 SPF-PT #2 13'5"

Top Plates:
Studs: (11) 2x4 SPF #2 8' 8-5/8"
Components & Subcomponents Start End
5'9-3/4" 6' 4-3/4"

2X6 L (2x6 Up)



TrueBuild

Panel Production

SOFTWARE SUITE 1071912022
Bundle #3
2nd Chicago 38/107
Panel #115 Length: 12'4" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 15" 3"
12'4" |
1
72"
(2) 2x10
6'10"
2'6"
X
6'10"
2/4 2X6 L
i i NPN i i i i
& & ¥
v P
Top Plates: 2x4 SPF #2 12'4" Bottom Plates: 2x4 SPF #2 12'4"
Studs: (9) 2x4 SPF #2 8' 8-5/8"
Components & Subcomponents Start End
2/4 (6' 8-1/2") 4'2" 72"
2X6 L (2x6 Up) 7' 0-1/4" 7' 7-1/4"



o r P | Producti
TrueBuild anelFrocuction

SOFTWARE SUITE
Bundle #3

2nd Chicago 39/107
Panel #116 Length: 14' 0-1/2" Height: 9' 1-1/8" First Stud Face @11' 11-1/4" (1' 4" o.c.) Diagonal: 16' 7-15/16"

L 14' 0-1/2" I
1 1
|l §-1/2]
il
(2) 2x12
(2) 2x10 7
610"
& 5
W B
=| 0|
0| 0|
2'g" 4';(0"
X 72
610"
2X4L 26 2x8 L 2/4pd
— Y= WM B
b % Y b bl &
) 3] ~ o~ =
<) ~ - o i
- < o =
[ToluTel —

Top Plates: 2x4 SPF #2 14'0-1/2" Bottom Plates: 2x4 SPF #2 14' 0-1/2"
Studs: (3) 2x4 SPF #2 8' 8-5/8"

Components & Subcomponents Start End

2X4 L (2x4 Dn) @ Start 5"

2/6 (6' 8-1/2") 1' 0-3/4" 4' 2-3/4"
2x8 L (2x8 Up) 5'1-7/8" 5'10-5/8"

2/4pd (7' 0-1/2") 5'11-1/2" 11' 3-1/2"



o r P | Producti
TrueBuild anelFrocuction

SOFTWARE SUITE
Bundle #3

Chicago 40/107

Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 12' 2-9/16"

2nd
Panel #118 Length: 8' 3-1/2"

| 8'3-1/2" |
1 7
W)
(2) 2x10
610"
X &
W
=
0| |
2'6"
X
6' 10"
2X4 L 214
N X ‘%WN W X K
& & 3
g %) o)
: Y re)

Top Plates: 2x4 SPF #2 8'3-1/2" Bottom Plates: 2x4 SPF #2 8' 3-1/2"
Studs: (5) 2x4 SPF #2 8' 8-5/8"

Components & Subcomponents Start End
2X4 L (2x4 Up) 1" 10-1/2" 2'3-1/2"
2'3-1/2" 5'3-1/2"

2/4 (6' 8-1/2")



True BUIld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #3
2nd Chicago 41/107

Panel #126 Length: 5' 0-3/4" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 10' 3-9/16"

L 5'0-3/4" |
1 1

& &

W o

| oo

0| |

A

-

X X X X i

Top Plates: 2x4 SPF #2 5'0-3/4" Bottom Plates: 2x4 SPF #2 5'0-3/4"
Studs: (5) 2x4 SPF #2 8' 8-5/8"



TrueBuild

SOFTWARE SUITE

2nd Chicago

Panel Production
10/19/2022

Bundle #3
42/107

Panel #125 Length: 6' 5-3/4" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.)

L 6'5-3/4"

Diagonal: 11' 0-3/4"

-~

8'11-5/8"
8' 8-5/8"

2X4 L

in

Top Plates: 2x4 SPF #2 6'5-3/4" Bottom Plates: 2x4 SPF #2 6'5-3/4"
Studs: (5) 2x4 SPF #2 8' 8-5/8"

Components & Subcomponents Start End

2X4 L (2x4 Dn) @ Start 5"



True BUIld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #3
2nd Chicago 43/107

Panel #123 Length: 3' 7-1/2" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 9' 8-1/16"

2 3'7-1/2"

8'11-5/8
8' 8-5/8"

" X N K

Top Plates: 2x4 SPF #2 3'7-1/2" Bottom Plates: 2x4 SPF #2 3'7-1/2"
Studs: (4) 2x4 SPF #2 8' 8-5/8"




True BUlld Panel Production

SOFTWARE SUITE

10/19/2022

Bundle #3

2nd Chicago 44/107
Panel #124 Length: 5' 3" Height: 9' 1-1/8"

First Stud Face @3' 11-1/4" (1' 4" o.c.) Diagonal: 10' 4-11/16"

L 5'3" |
1 7
4"
(2) 2x8
6' 10"
2'10"
X
6' 10"
2/8
M W X N
Top Plates: 2x4 SPF #2 5'3" Bottom Plates: 2x4 SPF #2 5'3"
Studs: (2) 2x4 SPF #2 8'8-5/8"
Components & Subcomponents Start End
2/8 (6' 8-1/2") @ Start 34"




TrueBuild

SOFTWARE SUITE

2nd

Chicago

Panel Production
10/19/2022

Bundle #3
45/107

Panel #119 Length: 12' 2" Height: 9'

1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.)

Diagonal: 15' 1-3/8"

L 12'2" |
1 7
"
6' 10"
2'8"
X
6' 10"
3S 2X4 L 2/16bf 2X6 L
M N N (I N (. ,\N\ @Z{ N
& & o - Ty 2
: -5 =7 7
Top Plates: 2x4 SPF #2 12'2" Bottom Plates: 2x4 SPF #2 12'2"
Studs: (6) 2x4 SPF #2 8' 8-5/8"
Components & Subcomponents Start End
3S 3'3-1/2" 3'8"
2X4 L (2x4 Dn) 6'6" 6'11"
2/16bf (6' 8-1/2") 6' 11" 10" 1"
2X6 L (2x6 Dn) 10' 4-3/4" 10" 11-3/4"



True BUIld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #3
2nd Chicago 46/107

Panel #122 Length: 6' 0" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 10' 9-1/2"

L 6'0" L
1 1
G
=| oo
| 0|
2X6 L
- X NN NN
:‘ :‘
SO
@ P
Top Plates: 2x4 SPF #2 6'0Q" Bottom Plates: 2x4 SPF #2 6' Q"
Studs: (6) 2x4 SPF #2 8' 8-5/8"
Components & Subcomponents Start End

2X6 L (2x6 Dn) 3' 0-3/4" 3'7-3/4"



True BUlld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #3
2nd Chicago 47/107

Panel #121 Length: 6' 0" Height: 9' 1-1/8" First Stud Face @3' 11-1/4" (1' 4" o.c.) Diagonal: 10' 9-1/2"

L 6'0" L
1 1
14"
(2) 2x10
6' 10"
2'6"
X
6'10"
2/4 2X6 L
N I\MH ‘ N NN
233
Top Plates: 2x4 SPF #2 6'0Q" Bottom Plates: 2x4 SPF #2 6' Q"
Studs: (3) 2x4 SPF #2 8' 8-5/8"
Components & Subcomponents Start End
2/4 (6' 8-1/2") @ Start 3'0"

2X6 L (2x6 Up) 3' 0-3/4" 3' 7-3/4"



True BUlld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #3
2nd Chicago 48/107

Panel #120 Length: 3' 7-3/4" Height: 9' 1-1/8" Diagonal: 9' 8-3/16"

L 3'7-3/14" l
1 1
ATA
10-1/4"
(2) 2x10
6'10"
Q%
W o
| ©
0| )
2'8"
X
6'10"
gvgv
2X4 L 2/6
NX'W VY

[Te)

5-3/4

Top Plates: 2x4 SPF #2 3'7-3/4" Bottom Plates: 2x4 SPF #2 3'7-3/4"

Components & Subcomponents Start End

2X4 L (2x4 Up) @ Start 5"
2/6 (6' 8-1/2") 5-3/4" @ End




TrueBuild

SOFTWARE SUITE

2nd

Chicago

Panel Production
10/19/2022

Bundle #3
49/107

Panel #112 Length: 9'2" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 12' 9-7/8"

L 92" |
1 7
2X6 L
i N | ‘N N i
S
Top Plates: 2x4 SPF #2 9'2" Bottom Plates: 2x4 SPF #2 9'2"
Studs: (8) 2x4 SPF #2 8' 8-5/8"
Components & Subcomponents Start End
2X6 L (2x6 Dn) 3' 3-1/4" 3'10-1/4"



TrueBuild

SOFTWARE SUITE

2nd

Chicago

Panel Production

10/19/2022
Bundle #3
50/107

Panel #177 Length: 11' 7-1/2" Height: 9' 1-1/8"

First Stud Face @1' 3-1/4" (1' 4" o.c.)

11'7-1/2"

Diagonal: 14' 8-3/16"

8'11-5/8
8' 8-5/8"

10" 1'4-1/2"
(2) 2x10 (2) 2x10
6'10" 6' 10"
2'8" 2'6"
X X
6'10" 6'10"
2X4 L 2/6 2/4
I el I——
> N T &
N ™ © -
~ ~
© >

Top Plates: 2x4 SPF #2 11'7-1/2"

Studs: (5) 2x4 SPF #2 8' 8-5/8"

Bottom Plates: 2x4 SPF #2 11'7-1/2"

Components & Subcomponents Start End
2X4 L (2x4 Up) 2'9" 32"
2/6 (6' 8-1/2") 32" 6'4"
2/4 (6' 8-1/2") 6'7-1/2" 9'7-1/2"



True BUIld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #3
2nd Chicago 51/107

Panel #114 Length: 2' 1" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 9' 2-1/2"

8' 11-5/8"
8' 8-5/8

N

Top Plates: 2x4 SPF #2 2' 1" Bottom Plates: 2x4 SPF #2 2' 1"
Studs: (3) 2x4 SPF #2 8' 8-5/8"



True BUlld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #3
2nd Chicago 52/107

Panel #110 Length: 8' 0" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 12' 0-1/4"

L 8 |
1 1
i X X X i i i
Top Plates: 2x4 SPF #2 8'0" Bottom Plates: 2x4 SPF #2 8' 0"

Studs: (7) 2x4 SPF #2 8' 8-5/8"



TrueBuild

SOFTWARE SUITE

2nd

Chicago

Panel Production
10/19/2022

Bundle #3
53/107

Panel #113 Length: 5' 9" Height: 9' 1-1/8"

Diagonal: 10' 7-7/8"

L 59"
1 1
O72"
(2) 2x12
6'10"
=| oo
| 0|
4'2"
X
6'10"
4/0 2X4 L
s 1
© o
Top Plates: 2x4 SPF #2 5'9" Bottom Plates: 2x4 SPF #2 5'9"
Studs: 2x4 SPF #2 8'8-5/8"
Components & Subcomponents Start End
4/0 (6' 8-1/2") 6-1/2" 5'2-1/2"
2X4 L (2x4 Dn) 5'4" @ End



True BUIld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #3
2nd Chicago 54/107

Panel #111 Length: 9' 5-1/2" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 13' 0-7/16"

L 9'5-1/2" |

8' 11-5/8"
8'8-5/8"

1 i I I I

I
ro)
o)

4-1/2"

=}
-
N

Top Plates: 2x6 SPF #2 9'5-1/2" Bottom Plates: 2x6 SPF #2 9'5-1/2"
Studs: (7) 2x6 SPF #2 8' 8-5/8"
Components & Subcomponents Start End

3S @ Start 4-1/2"
2X6 L (2x6 Up) 2' 10" 35"




True BUIld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #3
2nd Chicago 55/107

Panel #117 Length: 9' 5-1/2" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 13' 0-7/16"

L 9'5-1/2" |

8'11-5/8"
8'8-5/8

(]
<
[~
I—

Top Plates: 2x6 SPF #2 9'5-1/2" Bottom Plates: 2x6 SPF #2 9'5-1/2"
Studs: (7) 2x6 SPF #2 8' 8-5/8"

Components & Subcomponents Start End

2X4 L (2x4 Dn) 9'0-1/2" @ End



TrueBuild

SOFTWARE SUITE

2nd Chicago

Panel Production
10/19/2022

Bundle #4
56/107

Panel #88 Length: 16' 0" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 18' 4-1/8"

L 16'0"
1 1
2X6 L
i i = i i i i i i i i
S
n
Top Plates: 2x4 SPF #2 16'Q" Bottom Plates: 2x4 SPF-PT #2 16' Q"
Studs: (12) 2x4 SPF #2 8' 8-5/8"
Components & Subcomponents Start End

2X6 L (2x6 Up) 3'7-1/4" 4'2-1/4"



TrueBuild

Panel Production

SOFTWARE SUITE 1071912022
Bundle #4
2nd Chicago 57/107
Panel #87 Length: 16' 0" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 18' 4-1/8"
L 16'0" )
1 1
2X6 L 2X6 L 3S 2X6 L
I I X M=K X X 1 X WX I W M= KX
| | | | (I | |
SR ¥ 8% SO
o » o o :; :; o
Top Plates: 2x4 SPF #2 16'Q" Bottom Plates: 2x4 SPF-PT #2 16' Q"
Studs: (12) 2x4 SPF #2 8' 8-5/8"
Components & Subcomponents Start End
2X6 L (2x6 Up) 3'2-1/4" 3'9-1/4"
2X6 L (2x6 Up) 8' 1-3/4" 8' 8-3/4"
38 11" 11-1/2" 12' 4"
2X6 L (2x6 Up) 14" 11-1/4" 15' 6-1/4"



Panel Production

TrueBuild
SOFTWARE SUITE 1071912022
Bundle #4
2nd Chicago 58/107
Panel #86 Length: 13'5" Height: 9' 1-1/8" First Stud Face @1' 4-1/4" (1' 4" o.c.) Diagonal: 16' 1-11/16"
L 13'5" |
1 7
2X6 L
X X X i X i i M‘M&‘ N
SO
Top Plates: 2x4 SPF #2 13'5" Bottom Plates: 2x4 SPF-PT #2 13'5"
Studs: (11) 2x4 SPF #2 8' 8-5/8"
Components & Subcomponents Start End
12' 9-1/4"

2X6 L (2x6 Up) 12' 2-1/4"



TrueBuild

SOFTWARE SUITE

2nd Chicago

Panel Production
10/19/2022

Bundle #4
59/107

Panel #131 Length: 3'3" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 9' 6-1/2"

L 33" )
1 1
LK
=| «©
0 0|
2X6 L 28
L W= W
:‘ :‘ :‘
¥ ¥ ©°
= &
Top Plates: 2x4 SPF #2 3'3" Bottom Plates: 2x4 SPF #2 3'3"
Studs: (3) 2x4 SPF #2 8' 8-5/8"
Components & Subcomponents Start End
2X6 L (2x6 Up) 1'7-1/4" 2'2-1/4"

2S 3'0" @ End



TrueBuild

SOFTWARE SUITE

2nd Chicago

Panel Production
10/19/2022

Bundle #4
60/107

Panel #132 Length: 4' 1-1/2" Height: 9' 1-1/8" Diagonal: 9' 10-7/16"

| 4'1-1/2"

L
h1-1/4"
6'10"
o &
QB
=| «©
0 e
32
X
6'10"
gvgt
3/0
XN (M
[ [
3 S
? ?
N o
el

Top Plates: 2x4 SPF #2 4'1-1/2" Bottom Plates: 2x4 SPF #2 4'1-1/2"
Studs: (2) 2x4 SPF #2 8'8-5/8"
Components & Subcomponents Start End
3'10-3/4"

3/0 (6' 8-1/2") 2-3/4"



True BUIld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #4
2nd Chicago 61/107

Panel #147 Length: 5' 6-3/4" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 10' 6-5/8"

L 5'6-3/4" l
1 1

Atﬁv

Xl %

W

=

30| %

L

L

X X N N XX

Top Plates: 2x4 SPF #2 5'6-3/4" Bottom Plates: 2x4 SPF #2 5'6-3/4"
Studs: (6) 2x4 SPF #2 8' 8-5/8"



TrueBuild

Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #4
2nd Chicago 62/107
Panel #127 Length: 12'4" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 15" 3"
12'4" |
1
72"
(2) 2x10
6'10"
2'6"
X
6'10"
2/4 2X6 L
i i NPN i i i i
& & %
v P
Top Plates: 2x4 SPF #2 12'4" Bottom Plates: 2x4 SPF #2 12'4"
Studs: (9) 2x4 SPF #2 8' 8-5/8"
Components & Subcomponents Start End
2/4 (6' 8-1/2") 4'2" 72"
2X6 L (2x6 Up) 7' 0-1/4" 7' 7-1/4"



o r P | Producti
TrueBuild anelFrocuction

SOFTWARE SUITE
Bundle #4

2nd Chicago 63/107
Panel #128 Length: 13' 6-3/4" Height: 9' 1-1/8" First Stud Face @13' 3-1/4" (1' 4" o.c.) Diagonal: 16' 3-1/8"

| 13'6-3/4" |,
1 7
ATA
| | ' 0-3/4"
§177
(2) 2x12
(2) 2x10 L
6'10"
&l &
Wl B
| «©
0| 0|
o 410"
2'8 X
X 7 o0
6' 10"
| Av
L
2X4L 2/6 2x8 L 2/4pd 2X6 L
= W= W= a
o & BB bk A A
- by O SN T LT
=) <) T - < =
- T ¥ b b = T
2~ =

Top Plates: 2x4 SPF #2 13'6-3/4" Bottom Plates: 2x4 SPF #2 13' 6-3/4"
Studs: (2) 2x4 SPF #2 8' 8-5/8"

Components & Subcomponents Start End

2X4 L (2x4 Dn) @ Start 5"

2/6 (6' 8-1/2") 10-1/8" 4' 0-1/8"
2x8 L (2x8 Up) 4' 8-5/8" 5'5-3/8"
2/4pd (7' 0-1/2") 5'7-1/4" 10' 11-1/4"

2X6 L (2x6 Up) 11" 4-1/2" 11 11-1/2"



TrueBuild

SOFTWARE SUITE

2nd Chicago

Panel Production
10/19/2022

Bundle #4
64/107

Panel #130 Length: 8' 3" Height: 9' 1-1/8" First Stud Face @5' 3-1/4" (1' 4" o.c.) Diagonal: 12' 2-1/4"

(2) 2x10

6' 10"

8'11-5/8"
8'8-5/8

2X6 L 2/4

i

Top Plates: 2x4 SPF #2 8'3" Bottom Plates: 2x4 SPF
Studs: (5) 2x4 SPF #2 8' 8-5/8"

Components & Subcomponents Start

#2 83"

End

2X6 L (2x6 Up) 1'3-3/4"
2/4 (6' 8-1/2") 2'0"

1' 10-3/4"
5! Oll



True BUIld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #4
2nd Chicago 65/107

Panel #135 Length: 6'6" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 11' 0-15/16"

L 6'6" |
1 1
EE:
=| «©
0 0|
2X6 L
kX N =N X N
:‘ :‘
SO
: 2
Top Plates: 2x4 SPF #2 6'6" Bottom Plates: 2x4 SPF #2 6'6"
Studs: (5) 2x4 SPF #2 8' 8-5/8"
Components & Subcomponents Start End

2X6 L (2x6 Dn) 3'4-3/4" 3'11-3/4"



TrueBuild

Panel Production

SOFTWARE SUITE 10/19/2022

Bundle #4

2nd Chicago 66/107
<—

Panel #146 Length: 3' 7-15/16" Hei

ght: 9' 1-1/8" Diagonal: 9' 8-1/4"

8'11-5/8"
8'8-5/8"

Top Plates: 2x4 SPF #2 3'7-15/16" 22.5/ Sk |

Studs: (2) 2x4 SPF #2 8' 8-5/8"

Components & Subcomponents

Start

q 3'7-15/16" q
[ "
[

-1/4f
(2) 2x10
6' 10"
2'8"
X
6' 10"
[
2/6
M 0

3-11/16"—

3'5-11/16"—

Bottom Plates: 2x4 SPF #2 3'7-15/16" 22.5/ Sk |

End

2/6 (6' 8-1/2")

3-11/16"

3' 5-11/16"



TrueBuild

SOFTWARE SUITE

2nd

Chicago

Panel Production
10/19/2022

Bundle #4
67/107

Panel #133 Length: 11'2" Height: 9' 1-1/8"

First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 14' 3-7/8"

N

8' 11-5/8"
8'8-5/8

272"

6'10"

oo

2X4 L

2/16bf

i i NMN i = WNN

Top Plates: 2x4 SPF #2 11'2"
Studs: (7) 2x4 SPF #2 8' 8-5/8"

Bottom Plates: 2x4 SPF #2 11'2"

Components & Subcomponents Start End

3S 3'4-1/2" 3'9"

2X4 L (2x4 Dn) 6'4-1/2" 6'9-1/2"
2/16bf (6' 8-1/2") 6'9-1/2" 9'11-1/2"



True BUIld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #4
2nd Chicago 68/107

Panel #136 Length: 4' 4-1/2" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 9' 11-3/4"

L 4'4-1/2" |

8' 11-5/8"
8' 8-5/8

i N N NN

Top Plates: 2x4 SPF #2 4'4-1/2" Bottom Plates: 2x4 SPF #2 4'4-1/2"
Studs: (5) 2x4 SPF #2 8' 8-5/8"




TrueBuild

Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #4
2nd Chicago 69/107
Panel #134 Length: 6' 9-1/2" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 11' 3"
L 6'9-1/2" L
1 1
§5
(2) 2x10
6' 10"
2'6"
X
6'10"
2X4L 2X6 L 2/4
ST T 73
b ¥ Yy Ky
2373 3

Top Plates:

2x4 SPF

#2 6'9-1/2" Bottom Plates: 2x4 SPF #2 6'9-1/2"

Studs: (3) 2x4 SPF #2 8' 8-5/8"

2X4 L (2x4 Dn)
2X6 L (2x6 Dn)

Components & Subcomponents Start End
@ Start 5"
2'9-3/4" 3'4-3/4"
3'6-1/4" 6'6-1/4"

2/4 (6' 8-1/2")



True BUlld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #4
2nd Chicago 70/107

Panel #144 Length: 4' 1-1/2" Height: 9' 1-1/8" Diagonal: 9' 10-7/16"

L 4'1-1/2" |

o ]
10-17&
(2) 2x10
6' 10"
@
W o
=| 0|
?” 0
og
X
6' 10"
BN )
206 2S5
i Ny
3 ¥ o
& & =
[t} ~ T
) <o

o

Top Plates: 2x4 SPF #2 4'1-1/2" -45\ Sk /-22.5 Bottom Plates: 2x4 SPF #2 4'1-1/2" -45\ Sk /-22.5
Studs: 2x4 SPF #2 8'8-5/8"
Components & Subcomponents Start End

2/6 (6' 8-1/2") 5-3/4" 3'7-3/4"
28 3'9-1/16" 4' 0-1/16"




True BUlld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #4
2nd Chicago 71107

Panel #145 Length: 9' 5-7/16" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 13' 0-3/8"

L 9'5-7/16" |

8'11-5/8
8' 8-5/8"

S

W N N X N X X N

Top Plates: 2x4 SPF #2 9'5-7/16" -22.5\ Sk | Bottom Plates: 2x4 SPF #2 9'5-7/16" -22.5\ Sk |
Studs: (8) 2x4 SPF #2 8' 8-5/8"




TrueBuild

SOFTWARE SUITE

2nd Chicago

Panel Production
10/19/2022

Bundle #4
72/107

Panel #141 Length: 6'4" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 10' 11-3/4"

L 6'4
f
2X4 L
‘ N N N
Top Plates: 2x4 SPF #2 6'4" Bottom Plates: 2x4 SPF #2 6'4"
Studs: (5) 2x4 SPF #2 8' 8-5/8"
Components & Subcomponents Start End

2X4 L (2x4 Dn) @ Start 5"



True BUlld Panel Production

SOFTWARE SUITE

10/19/2022

Bundle #4

2nd Chicago 73/107
Panel #140 Length: 5'3" Height: 9' 1-1/8"

First Stud Face @3' 11-1/4" (1' 4" o.c.) Diagonal: 10' 4-11/16"

L 5'3" |
1 7
4"
(2) 2x8
6' 10"
2'10"
X
6' 10"
2/8
M W X N
Top Plates: 2x4 SPF #2 5'3" Bottom Plates: 2x4 SPF #2 5'3"
Studs: (2) 2x4 SPF #2 8'8-5/8"
Components & Subcomponents Start End
2/8 (6' 8-1/2") @ Start 34"




True BUlld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #4
2nd Chicago 74/107

Panel #138 Length: 5' 0" Height: 9' 1-1/8" First Stud Face @3' 11-1/4" (1' 4" o.c.) Diagonal: 10' 3-1/4"

L 50" |
1 1
4"
(2) 2x10
6' 10"
3%
=|
0| 0|
2'6"
X
6' 10"
2/4
N W i N
Top Plates: 2x4 SPF #2 5'0" Bottom Plates: 2x4 SPF #2 5' 0"
Studs: (2) 2x4 SPF #2 8'8-5/8"
Components & Subcomponents Start End

2/4 (6' 8-1/2") @ Start 30"



True BUIld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #4
2nd Chicago 75/107

Panel #143 Length: 2' 1" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 9' 2-1/2"

8' 11-5/8"
8' 8-5/8

N

Top Plates: 2x4 SPF #2 2' 1" Bottom Plates: 2x4 SPF #2 2' 1"
Studs: (3) 2x4 SPF #2 8' 8-5/8"



True BUIld Panel Production
SOFTWARE SUITE 10/19/2022
Bundle #4

Chicago 76/107

2nd
Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.)

Panel #137 Length: 8' 10-1/2"

Diagonal: 12' 7-7/16"

L 8 10-1/2" |
1 1
2X6 L 2X4 L
N N N N N = N fZM
SO N
Top Plates: 2x4 SPF #2 8'10-1/2" Bottom Plates: 2x4 SPF #2 8' 10-1/2"
Studs: (6) 2x4 SPF #2 8' 8-5/8"
Components & Subcomponents Start End
6' 7-1/4" 7' 2-1/4"

2X6 L (2x6 Up)

2X4 L (2x4 Dn) 8' 5-1/2" @ End



TrueBuild

SOFTWARE SUITE

2nd

Chicago

Panel Production
10/19/2022

Bundle #4
771107

Panel #142 Length: 7' 0-3/8"

Top Plates: 2x4 SPF #2 7'0-3/8"
Studs: 2x4 SPF #2 8' 8-5/8"

Height: 9' 1-1/8"

Diagonal: 11' 4-3/4"

8' 11-5/8"
8' 8-5/8

L 7' 0-3/8" /‘J,
]
C874
2) 2x12
6' 10"
5o
X
6'10"
]
5/0 2X4 L
= =
3 ¥ R
= = RR
LS <+ 0o
© .
©

| Sk \22.5 Bottom Plates: 2x4 SPF #2 7' 0-3/8"

| Sk \22.5

Components & Subcomponents Start End
5/0 (6' 8-1/2") 8-1/4" 6' 4-1/4"
2X4 L (2x4 Dn) 6'5-7/8" 6' 10-7/8"



Panel Production

TrueBuild
SOFTWARE SUITE 10/19/2022
Bundle #4
2nd Chicago 78/107
Panel #89 Length: 16' 0" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 18' 4-1/8"
L 16'0" |
1 1
2X6 L 2X6 L
i i X X X i i = i~ i
33 S
= 3 : 3
Top Plates: 2x4 SPF #2 16'Q" Bottom Plates: 2x4 SPF-PT #2 16' Q"
Studs: (11) 2x4 SPF #2 8' 8-5/8"
Components & Subcomponents Start End
2X6 L (2x6 Up) 11' 9-3/4" 12' 4-3/4"
14' 2-1/4" 14' 9-1/4"

2X6 L (2x6 Up)



Panel Production

TrueBuild
SOFTWARE SUITE 10/19/2022
Bundle #4
2nd Chicago 79/107
Panel #90 Length: 16' 0" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 18' 4-1/8"
b 160" )
1 1
2x8 L 2X6 L
i i i ‘M% i i i = i i i i
2 & ¥
SR > o

Top Plates: 2x4 SPF #2 16'Q" Bottom Plates: 2x4 SPF-PT #2 16' Q"

Studs: (11) 2x4 SPF #2 8' 8-5/8"

Components & Subcomponents Start End
2x8 L (2x8 Up) 3'5-7/8" 4' 2-5/8"
9'9-1/4"

2X6 L (2x6 Up) 9' 2-1/4"



TrueBuild

Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #4
2nd Chicago 80/107
Panel #91 Length: 13'5" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 16' 1-11/16"
A 13'5" L
1 1
2X6 L
i i X i i i i i i i

5'9-3/4"—
6'4-3/4"—

2x4 SPF #2 13'5" Bottom Plates: 2x4 SPF-PT #2 13'5"

Top Plates:
Studs: (11) 2x4 SPF #2 8' 8-5/8"
Components & Subcomponents Start End
5'9-3/4" 6' 4-3/4"

2X6 L (2x6 Up)



True BUIld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #4
2nd Chicago 81/107

Panel #129 Length: 9' 4-1/2" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 12' 11-11/16"

L 9'4-1/2" |

8'11-5/8"
8'8-5/8

N
<
N
—

==
=
==
=
=
=
=l
8 11-1/2 4&

Top Plates: 2x6 SPF #2 9'4-1/2" Bottom Plates: 2x6 SPF #2 9'4-1/2"
Studs: (7) 2x6 SPF #2 8' 8-5/8"

Components & Subcomponents Start End

2X4 L (2x4 Dn) 8" 11-1/2" @ End



True BUIld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #4
2nd Chicago 82/107

Panel #139 Length: 8' 10-1/2" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 12' 7-7/16"

8'10-1/2" L

=
-

8' 11-5/8"
8'8-5/8

38 2X6 L

4-1/2
2'4-3/4"
2'11-3/4"—

Top Plates: 2x6 SPF #2 8'10-1/2" Bottom Plates: 2x6 SPF #2 8' 10-1/2"
Studs: (6) 2x6 SPF #2 8' 8-5/8"
Components & Subcomponents Start End

3S @ Start 4-1/2"
2X6 L (2x6 Up) 2' 4-3/4" 2'11-3/4"




TrueBuild

SOFTWARE SUITE

2nd Chicago

Panel Production
10/19/2022

Bundle #5
83/107

Panel #94 Length: 16' 0" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 18' 4-1/8"

L 16'0"
1 1
2X6 L
i i = i i i i i i i i
S
n
Top Plates: 2x4 SPF #2 16'Q" Bottom Plates: 2x4 SPF-PT #2 16' Q"
Studs: (12) 2x4 SPF #2 8' 8-5/8"
Components & Subcomponents Start End

2X6 L (2x6 Up) 3'7-1/4" 4'2-1/4"



TrueBuild

SOFTWARE SUITE

2nd Chicago

Panel Production
10/19/2022

Bundle #5
84/107

Panel #93 Length: 16' 0" Height: 9' 1-1/8"

First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 18' 4-1/8"

-~

8'11-5/8"
8'8-5/8

2X6 L

2X6 L

2X6 L

N

o
73
=
=<

3'1-3/4"—
3'8-3/4"—
8' 1-1/4"—
8'8-1/4"—

2x4 SPF #2 16' 0" Bottom Plates: 2x4 SPF-PT #2 16' 0"

12'4"—
14'10-1/4"—
15'5-1/4"—

Top Plates:
Studs: (12) 2x4 SPF #2 8' 8-5/8"
Components & Subcomponents Start End
3'1-3/4" 3' 8-3/4"

2X6 L (2x6 Up)

2X6 L (2x6 Up) 8' 1-1/4" 8' 8-1/4"
3S 11" 11-1/2" 12' 4"
14' 10-1/4" 15' 5-1/4"

2X6 L (2x6 Up)



Panel Production

TrueBuild
SOFTWARE SUITE 1071912022
Bundle #5
2nd Chicago 85/107
Panel #92 Length: 13'5" Height: 9' 1-1/8" First Stud Face @1' 4-1/4" (1' 4" o.c.) Diagonal: 16' 1-11/16"
L 13'5" |
1 7
2X6 L
X X X i X i i M‘M&‘ N
SO
Top Plates: 2x4 SPF #2 13'5" Bottom Plates: 2x4 SPF-PT #2 13'5"
Studs: (11) 2x4 SPF #2 8' 8-5/8"
Components & Subcomponents Start End
12' 9-1/4"

2X6 L (2x6 Up) 12' 2-1/4"



o r P | Producti
TrueBuild anelFrocuction

SOFTWARE SUITE

Bundle #5
2nd Chicago 86/107
Panel #149 Length: 14' 0-3/4" Height: 9' 1-1/8" First Stud Face @8" (1' 4" o.c.) Diagonal: 16' 8-1/8"
L 14' 0-3/4" )
1 7
&bmH 132"
) 2x12
(2) 2x10 -
6' 10"
=| 0|
do| ®| .
g 4)1(0
X 72
6' 10"
2X4L 2/6 2/4pd
R o rooeo
o & & ¥ ¥
2 i z 5
— < © :

Top Plates: 2x4 SPF #2 14'0-3/4" Bottom Plates: 2x4 SPF #2 14' 0-3/4"
Studs: (3) 2x4 SPF #2 8' 8-5/8"

Components & Subcomponents Start End
2X4 L (2x4 Dn) @ Start 5"
2/6 (6' 8-1/2") 1' 6-5/8" 4' 8-5/8"

2/4pd (7' 0-1/2") 6'1-1/4" 11' 5-1/4"



True BUIld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #5
2nd Chicago 87/107

Panel #148 Length: 12'4" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 15" 3"

L 12' 4" L
1 1
172"
(2) 2x10
6' 10"
% 5
W 6
=|
0| %
2'6"
X
6'10"
gvgv
2/4 2X4 L
i X X X P<N l\mf i X X XN
&N N
~ ~ K~

Top Plates: 2x4 SPF #2 12'4" Bottom Plates: 2x4 SPF #2 12'4"
Studs: (9) 2x4 SPF #2 8' 8-5/8"

Components & Subcomponents Start End

2/4 (6' 8-1/2") 42" 72"
2X4 L (2x4 Up) 72" 77



True BUIld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #5
2nd Chicago 88/107

Panel #158 Length: 2' 2-3/16" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 9' 2-3/4"

2'2-3/16" ,

—
RN

8' 11-5/8"
8'8-5/8

1

1'7-11/16"—
2'0-11/16"—

2-7/16"
3-15/16"

Top Plates: 2x4 SPF #2 2'2-3/16" -22.5\ Sk /-22.5 Bottom Plates: 2x4 SPF #2 2'2-3/16" -22.5\ Sk /-22.5
Studs: 2x4 SPF #2 8' 8-5/8"

Components & Subcomponents Start End

(1) 2x4 SPF #2 2-7/16" 3-15/16"
2X4 L (2x4 Up) 1' 7-11/16" 2'0-11/16"



True BUIld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #5
2nd Chicago 89/107

Panel #165 Length: 5' 0-1/2" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 10' 3-7/16"

5'0-1/2" |

S

8'11-5/8
8' 8-5/8"

i X N N N

Top Plates: 2x4 SPF #2 5'0-1/2" Bottom Plates: 2x4 SPF #2 5'0-1/2"
Studs: (5) 2x4 SPF #2 8' 8-5/8"




o r P | Producti
TrueBuild anelFrocuction

SOFTWARE SUITE
Bundle #5

2nd Chicago 90/107
Panel #169 Length: 4' 2-3/4" Height: 9' 1-1/8" First Stud Face @3' 11-1/4" (1' 4" o.c.) Diagonal: 9' 11"

L 4'2-3/14" |
1 i
e
" 1-1/2"
610"
& &
W o
=| 0|
0| 0|
30
X
610"
| -~
L
3/0
NPW WNN
& y
& S
®

Top Plates: 2x4 SPF #2 4'2-3/4" Bottom Plates: 2x4 SPF #2 4'2-3/4"
Studs: (3) 2x4 SPF #2 8' 8-5/8"

Components & Subcomponents Start End

3/0 (6' 8-1/2") 2-1/2" 3'10-1/2"



TrueBuild

SOFTWARE SUITE

2nd Chicago

Panel Production
10/19/2022

Bundle #5
91/107

Panel #168 Length: 3'3" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 9' 6-1/2"

L 33" )
1 1
LK
=| «©
0 0|
2X6 L 28
L W= W
:‘ :‘ :‘
¥ ¥ ©°
= &
Top Plates: 2x4 SPF #2 3'3" Bottom Plates: 2x4 SPF #2 3'3"
Studs: (3) 2x4 SPF #2 8' 8-5/8"
Components & Subcomponents Start End
2X6 L (2x6 Up) 1'7-1/4" 2'2-1/4"

2S 3'0" @ End



True BUIld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #5
2nd Chicago 92/107

Panel #151 Length: 7' 4" Height: 9' 1-1/8" First Stud Face @7-1/4" (1' 4" o.c.) Diagonal: 11' 7"

L 74" |
1 7
1"
(2) 2x10
6' 10"
CE
| o9
| 0|
2'6"
X
6' 10"
2/4
MK P<N W X X N
: :
Top Plates: 2x4 SPF #2 T7'4" Bottom Plates: 2x4 SPF #2 7'4"
Studs: (5) 2x4 SPF #2 8' 8-5/8"
Components & Subcomponents Start End

2/4 (6' 8-1/2") 11" 4'1"



TrueBuild

SOFTWARE SUITE

2nd Chicago

Panel Production
10/19/2022

Bundle #5
93/107

Panel #161 Length: 7' 6" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 11' 8-5/16"

L 76" |
1 1
EE:
= «©
0 [Cel
2X6 L
X N W= X N
:‘ :‘
SO
@9
T oz
Yo
Top Plates: 2x4 SPF #2 7'6" Bottom Plates: 2x4 SPF #2 7'6"
Studs: (7) 2x4 SPF #2 8' 8-5/8"
Components & Subcomponents Start End

2X6 L (2x6 Dn) 4' 4-3/4" 4'11-3/4"



o r P | Producti
TrueBuild anelFrocuction

SOFTWARE SUITE
Bundle #5

2nd Chicago 94/107
Panel #157 Length: 9' 11-1/2" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 13' 4-13/16"

L 9' 11-1/2" L

L
5
610"
X
W ©
|
5| ®
28"
X
6'10"
Avév 1
3s 2X41 2/16bf
M N N | \N N [ I\MT
b & T o -
o © © iy
[¢] (2]
B

Top Plates: 2x4 SPF #2 9'11-1/2" | Sk /-22.5 Bottom Plates: 2x4 SPF #2 9'11-1/2" | Sk /-22.5
Studs: (5) 2x4 SPF #2 8' 8-5/8"

Components & Subcomponents Start End
3S 3'5" 3'9-1/2"
2X4 L (2x4 Dn) 6'4" 6'9"

2/16bf (6' 8-1/2") 6'9" 9" 11"



True BUIld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #5
2nd Chicago 95/107

Panel #162 Length: 4' 5-1/2" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 10' 0-3/16"

L 4'5-1/2" L
1 1

ATAV

% &

QB

=| oo

30| %

N

-

X X X NN

Top Plates: 2x4 SPF #2 4'5-1/2" Bottom Plates: 2x4 SPF #2 4'5-1/2"
Studs: (5) 2x4 SPF #2 8' 8-5/8"



True BUlld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #5
2nd Chicago 96/107

Panel #163 Length: 4' 4-11/16" Height: 9' 1-1/8" Diagonal: 9' 11-13/16"

L 4'4-11/16" |

1 7

T ]

78"
(2) 2x12
610"
Bl &
il
=|
30| ©
2'10"
X
6'10"

Avgv 1

Patio 2X4 L

L N

0 2k

~ ~N T

< o QP

LR

M

™

Top Plates: 2x4 SPF #2 4'4-11/16" | Sk /-22.5 Bottom Plates: 2x4 SPF #2 4'4-11/16" | Sk /-22.5
Studs: 2x4 SPF #2 8' 8-5/8"

Components & Subcomponents Start End

Patio (6' 8-1/2") 4-7/8" 3'8-7/8"
2X4 L (2x4 Up) 3'10-3/16" 4'3-3/16"




True BUlld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #5
2nd Chicago 97/107

Panel #164 Length: 9' 0-11/16" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 12' 8-15/16"

L 9'0-11/16" L

8' 11-5/8"
8' 8-5/8

N S

W X X N N N N N

Top Plates: 2x4 SPF #2 9'0-11/16" -22.5\ Sk | Bottom Plates: 2x4 SPF #2 9'0-11/16" -22.5\ Sk |
Studs: (8) 2x4 SPF #2 8' 8-5/8"




o r P | Producti
TrueBuild anelFrocuction

SOFTWARE SUITE
Bundle #5

2nd Chicago 98/107

Panel #160 Length: 4' 4-7/8" Height: 9' 1-1/8" Diagonal: 9' 11-7/8"

L 4'4-7/8" L
1 1
Aﬁgﬁ [
CE7gft
(2) 2x12
6' 10"
G
| oo
| 0|
2'10"
X
6' 10"
I il
Patio
N P<N W i
® ®
® <
Top Plates: 2x4 SPF #2 4'4-7/8" 45/ Sk | Bottom Plates: 2x4 SPF #2 4'4-7/8" 45/ Sk |
Studs: (2) 2x4 SPF #2 8'8-5/8"
Components & Subcomponents Start End
8-3/8" 4' 0-3/8"

Patio (6' 8-1/2")



True BUIld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #5
2nd Chicago 99/107

Panel #166 Length: 6' 0" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 10' 9-1/2"

L 6'0" |
1 7
i i X X N K
Top Plates: 2x4 SPF #2 6'0Q" Bottom Plates: 2x4 SPF #2 6' Q"

Studs: (6) 2x4 SPF #2 8' 8-5/8"



True BUlld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #5
2nd Chicago 100/107

Panel #167 Length: 5' 6-1/2" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 10' 6-1/2"

L 5'6-1/2" |
1 1
i
(2) 2x8
6' 10"
o %
W o
= «©
0| e
2'10"
X
6'10"
2X4 L 2/8
‘ X P(N |\
&
&N

Top Plates: 2x4 SPF #2 5'6-1/2" Bottom Plates: 2x4 SPF #2 5'6-1/2"
Studs: 2x4 SPF #2 8' 8-5/8"

Components & Subcomponents Start End

2X4 L (2x4 Up) @ Start 5"
2/8 (6' 8-1/2") 2' 2-1/2" @ End




True BUlld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #5
2nd Chicago 101/107

Panel #153 Length: 5' 0" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 10' 3-1/4"

L 50" |
1 1
&
(2) 2x10
6' 10"
=| oo
0 0|
2'6"
X
6' 10"
2/4
X N P<N W
Top Plates: 2x4 SPF #2 5'0" Bottom Plates: 2x4 SPF #2 5' 0"
Studs: (2) 2x4 SPF #2 8'8-5/8"
Components & Subcomponents Start End

2/4 (6' 8-1/2") 2'0" @ End



TrueBuild

SOFTWARE SUITE

2nd

Chicago

Panel Production
10/19/2022

Bundle #5
102/107

Panel #154 Length: 7' 11-1/2" Height: 9' 1-1/8" First Stud Face @2' 7-1/4" (1' 4" o.c.)

7'11-1/2"

Diagonal: 11' 11-7/8"

A'ﬁ

8' 11-5/8"
8' 8-5/8

2X4 L 2X6 L

= =

|
o

1'2-1/4"—
1'9-1/4"—

Top Plates: 2x4 SPF #2 7' 11-1/2" Bottom Plates: 2x4 SPF #2 7' 11-1/2"
Studs: (5) 2x4 SPF #2 8' 8-5/8"

Components & Subcomponents Start End

2X4 L (2x4 Up) @ Start 5"

2X6 L (2x6 Dn) 1'2-1/4" 1'9-1/4"



True BUIld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #5
2nd Chicago 103/107

Panel #155 Length: 2' 1" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 9' 2-1/2"

8' 11-5/8"
8' 8-5/8

N

Top Plates: 2x4 SPF #2 2' 1" Bottom Plates: 2x4 SPF #2 2' 1"
Studs: (3) 2x4 SPF #2 8' 8-5/8"



TrueBuild

SOFTWARE SUITE

2nd Chicago

Panel Production
10/19/2022

Bundle #5
104/107

Panel #156 Length: 6' 7-1/2" Height: 9' 1-1/8" Diagonal: 11' 1-13/16"

L 6'7-1/2"
1
AV
AV
10-1/4'
(2) 2x12
6'10"
% &
W
=| «©
0 e
5 o
X
6'10"
| -~
L
2X4 L 5/0
i .
o 3
I3 I3}
rss -
©

Top Plates: 2x4 SPF #2 6'7-1/2" Bottom Plates: 2x4 SPF #2 6' 7-1/2"
Studs: 2x4 SPF #2 8' 8-5/8"

Components & Subcomponents Start End

2X4 L (2x4 Up) @ Start 5"
5/0 (6' 8-1/2") 5-3/4" 6' 1-3/4"



Panel Production

True BUild 10/19/2022

SOFTWARE SUITE
Bundle #5
2nd Chicago 105/107

Panel #159 Length: 6' 3"

Height: 9' 1-1/8" Diagonal: 10" 11-3/16"

L 63" L
1 7
Avgt [
271f4
(2) 2x10
6'10"
& &
)
=| 0|
20 ©
2'6"
X
6'10"
I ol
\M 2X6 L N\I 2/4 ,\N N
[ [ [ [
$ ¥ % 5
= = & &
) 2’ res rss
- I N [To]

Top Plates: 2x4 SPF #2 6'3" -22.5\ Sk | Bottom Plates: 2x4 SPF #2 6'3" -22.5\ Sk |

Studs: (2) 2x4 SPF #2 8' 8-5/8"

Components & Subcomponents Start End
2X6 L (2x6 Dn) 1' 3-1/4" 1" 10-1/4"
2' 5-3/4" 5'5-3/4"

2/4 (6' 8-1/2")



TrueBuild

SOFTWARE SUITE

2nd

Chicago

Panel Production
10/19/2022

Bundle #5
106/107

Panel #152 Length: 7' 11-1/2" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.)

7'11-1/2"

Diagonal: 11' 11-7/8"

=

8' 11-5/8"
8'8-5/8

2X6 L

38

Top Plates: 2x6 SPF #2 7' 11-1/2" Bottom Plates:

Studs: (6) 2x6 SPF #2 8' 8-5/8"

5'10-1/4"

2x6 SPF #2 7' 11-1/2"

6'5-1/4"—|

77

Components & Subcomponents Start End
2X6 L (2x6 Dn) 5'10-1/4" 6' 5-1/4"
3S 77" @ End



TrueBuild

SOFTWARE SUITE

2nd

Panel Production

Chicago

10/19/2022
Bundle #5
107/107

Panel #150 Length: 9'4" Height: 9' 1-1/8"

First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 12' 11-5/16"

94" L

N

8'11-5/8"
8' 8-5/8"

Top Plates: 2x6 SPF #2 9'4" Bottom Plates: 2x6 SPF #2 9'4"
Studs: (7) 2x6 SPF #2 8' 8-5/8"

Components & Subcomponents Start End

2X4 L (2x4 Dn) 811" @ End



